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Unit 4: Trigonometry

| 4.10 Sum and Difference Identitiesl

sin(@ + B)=sin cos B + cos @ sinB
sin(@ — B) =sin@ cos B — cos @ sin B
cos(& + B) = cos@ cos B =sind sin B8

cos(@ — B)=cos cos B +sin@ sinB

tan@ + tanf8
-+ = —
tan(@ + B) = T r o an B

tan@ —tan B
tan(@ — B)=————
( B) | +tan¢ tan B

Ex.) Determine the exact value of angles that are not multiples of the standard
reference angles (ie. 0, 30, 45, 60, 90, etc.).
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c_)’&an 150 = 4an (ZC-D. -‘-\‘5)
= dontD - tandS

\ =Jq
_ 23 -4 = ‘\2(-5 +2)
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Ex.) Simplify the following to a single trig function:

a) sin 35 cos 40{cos 35sin 40
« N\ . ﬁ
= SN Cos +cos=¢Sin

T sin (=+0)
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b) tan 10 + tan 35
1-tan 10 tan 35

= Jon (16+33)
= \'\"O\V\L‘l =" ) simpldy
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sin (11/2 + M) = cos M

<i n"sg cosM +cogSi
| -cosM+ M

cos ™M

Pg. 306 # 1abd, 2bd, 7, 8,
10, 11c, 17, 19, 20ab.




